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1000 pts (asked 1000...), dmin 2*20 (arb.)  
 rejects=f(n)
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1000 pts (asked 1000...), dmin = 2*rad of circles (20) 
 [0:1]x[0:1] distribution
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1000 pts (asked 1000...), dmin 2*40 (arb.)  
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 [0:1]x[0:1] distribution
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 [0:1]x[0:1] distribution
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294 pts (asked 1000...), dmin 2*80 (arb.)  
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 0

 0.2

 0.4

 0.6

 0.8

 1

 0  0.2  0.4  0.6  0.8  1

294 pts (asked 1000...), dmin = 2*rad of circles (80) 
 [0:1]x[0:1] coverage



 0

 0.2

 0.4

 0.6

 0.8

 1

 0  0.2  0.4  0.6  0.8  1

294 pts (asked 1000...), dmin = 2*rad of circles (80) 
 [0:1]x[0:1] distribution


